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I Semester B.Com. ination, May/June2022

(NEP) (Semester Scheme)
COMMERCE

Financia! Accounting

Time:2'lz Hours Max. Marks:60

lnstructions : 1) Answers should be witten completely either in English

or in Kannada.

2) under Section - D answer any one sub'question.

SECTION - A

1. Answer any five of the lollowing questions. Each question carries 2 marks.

(5x2=10)

a) Name any four external users of accounting information.

b) What do you mean by generally accepted accounting principles ?

c) Can a hire vendor seize the goods sold under hire purchase system ? lf so

when can he do so ?

d) Mention any two rights of hire vendor.

e) Give the journal entry for internal department transfer of goods.

f) Distinguish between cost price and loaded price.

g) Goods are invoiced at a profit or 2o"/, on cost. The cost price of the goods
sent is t 1,60,000. Calculate the profit and invoice price.

t'"\i -i 5
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SECTION _ B

Answer any three of the following questions. Each question carries 4 marks.

(3x4=12)
2. Give six advantages of Financial Accounting.

3. Mr. Rajesh purchases a motor car on the hire purchase system. Calculate the

cash price of the motor car from the following :

Down payment = { 2,00,000

1" yr. installment = { 2,80,000

2ndyr. installment = { 3,60,000

3dyr. installment = { 3,30,000

Rate of interest @ 10% p.a.

4. Mr. Ravi Kumar purchased a machine on 1-4-18 from lndia Manufacturing Ltd.

under Hire purchase system. The details are given below :

Cost of the machine - { 4,00,000

Down payment - { 'l ,00,000

Balance payable in 3 installments of { 1,00,000 each at the end of each year

along with an interest at 10% p'a' on the outstanding amount'

PrepareMr.RaviKuma/sA/cinthebooksoflndiaManufacturingLtd''(ifthe

books are crosed on 31.rMarch each year tiil the end of the three years')
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5. Distribute the lollowing expenses to the departments of a business on an

appropriate basis :

Advertisement expenses - T 25,000, Rent - t 12,000, Electric lighting

charges - t 7,000, Salaries paid - { 2,00,000, Depreciation - { 9,000.

The following information is available regarding the departments.

Particulars Dept. A Dept. B Dept. C

Sales in t 10,00,000 10,00,000 5,00,000

Floor area in Sq.Mts. 600 400 200

No. of light points 10 15 '10

No. of employees I 6 5

Values of assets in { 5,00,000 2,00,000 2,00,000

6. From the following intormation, prepare Bangalore Branch Account in the books

of Head Office for the year ending on 31't March 2022.

Particulars

Stock (at cost)

Debtors

Petty cash

Goods sent to branch (at cost)

Cash sales

Cash received from debtors

Credit sales

Cheques sent to branch for expenses

Goods returned by the branch

1-4-21

30,000

60,000

600

31-3-22

50,000

96,000

400

5,04,000

1,20,000

4,20,000

4,56,000

23,200

4,000
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SECTION - C

Answer any three of the following questions. Each question carries 10 marks.

(3x10=30)

7. Transactions of Mohan Traders are given below. Show the effects of these

transactions on assets, liabilities and capital with the help of accounting equation.

a) Business started with cash t 1,00,000

b) Cash purchase t 50,000

c) Cash sale of { 60,000 (cost of goods sold t 40,000)

d) Purchased furniture for cash { 5,000

e) Paid personal expenses t 4,000

f) Bought goods from Ratan { 80,000

g) Sold goods worth { 60,000 on credit to Shivam for t 1,00,000

h) Paid rent of { 4,000.

8. Govinda Travels purchased a mini bus costing < 16,00,000 on Hire purchase

system on 1-4-2018. The amount payable t 4,00,000 on purchase and the

balance in 3 annual installments of t 5,00,000 each at the end of the year. The

bus was depreciated at 10% p.a. on WDV method. Accounts are closed on

31"tMarch each year.

Prepare Mini Bus A,/c and Hire Vendor A,/c for three years in the books of the

Govinda Travels.
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9. A Beauty Saloon has 3 departments. The pafticulars of which for the year ended

31-03-21 areasunder:

Cosmetic Lady's Hair Gent's Hair

Dressing Dressing

Stock of goods (1/4/20) 40,000 gO,0O0 60,000

Purchases 2,20,000 60,000 S,OO,OOO

\- Stock of goods (31/03/21) 60,000 5O,OOO 8O,OOO

Sales 3,60,000 1,80,000 S,4O,OOO

Wages and salaries 56,000 1,00,000 1,20,000

The following expenses can't be traced to any particular dept.

Rent and rate - { 70,000 Admn. expenses - { 96,000

Heating and lighting - t 40,000 General expenses - T 24,000

\- lt is decided to apportion rent and rates together with heating and lighting in

accordance with the lloor spaces occupied by each dept. which is in the proportion

ot 115, 112,3/10 respectively.

Admn. expenses and general expenses are to be allocated in the ratio of sales.

You are required to prepare Trading and Profit and Loss A/c for the period ending

on31103121.

-5-
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10. Krishna Ltd., Bangalore has a branch at Hoskote. Goods are invoiced to the branch

at cost plus 20% profit. From the following prepare Hoskote Branch A/c in the books

of HO.

Balanceonll4l2l:Stock(atlP)-t60,000,Debtors-{2,00,000,Pettycash-t1,000

Goods sent to branch at lnvoice Price (lP) - { 4,80,000

Cash sent to branch for : Rent - t 3,000, Other expenses - { 12,000

Sales during the year : Cash - t 2,00,000, Credit - { 3,00,000

Cash collected from customers - t 4,00,000, Bad debts for the year t 20,000

Balance on31lO3l22: Stock (at lP) - t 90,000, Debtors - t 80,000, Petty cash - t 500.

11. From the following figures relating to Bangalore Branch opened in 2020.

Particulars 2O2O -21 2021 -22

{{

Goods sent to branch 3,00,000 4,20,000

Cash sales 1,20,000 1,92,000

Credit sales 2,16,000 3,OO,OOO

Cash received lrom debtors 1,92,000 Z,4O,OOO

Discount allowed 3,OOO 9,OOO

Bad debts 3,OOO 6,000

Cash sent to branch for expenses 4Z,OOO 60,000

Stock on 31"tMarch 48,OOO g4,OO0

Petty cash on 31"rMarch 1,OOO 1,200

Prepare Branch Nclor 2021 and 2022.
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SECTION _ D

Answer any one of the following sub-questions. Each question carries 8 marks. (1x8=8)

12. A) Case: Shivaraj Motors and Financers, dealers in Tata Commercial Vehicles

is situated in Chikkaballapur. Mr. Raheem an onion merchant visits the

showroom to purchase a new "Tata lntra V-30" a commercial vehicle in

exchange lor his old vehicle. He gets the following quotation for the enquired

vehicle :

Ex-showroom price : T 7,50,000

On road price : { 8,25,000

Down payment is 20%

ExchangeBonus={5,000

Old vehicle resale rate = { 70,000

Rate ol interest 7.5o/o p.a. (at flat rate)

Loan period = 1B months.

Expected Outcome:

a) Ascertain the total interest that Raheem needs to pay for 18 months.

b) Calculate the EMI considering the above conditions.

OR

B) Case : A hyper market carries on its business through 3 departments :

Grocery, Footwear and Clothing. The following information for the year

2O2O-21 is made available to you. (All ligures given below under point - A
and-Barein{Lakhs)

a) Salary t 180, Rent, rates and taxes t 60, lnsurance { 25,

Miscellaneous expenses t 50.

7
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b) The lollowing balances were ascertained as on 31103121.

Grocery Footwear Clothing

Opening stock 15 9 22

Purchases 108 90 30

Sales 144 193 145

Closing stock 37 13 I
Expected Outcome:

a) Ascertain the cost of goods sold.

b) Ascertain the departmental profits or losses taking CGS as the basis for

allocation of common expenses.

iozldd*b : 1 ) wd dddtr loda tor;sa n qoAd e:daa dd.ddo- udoJstleds.

4 a?pad - 6o$e} aradaaddn uodt wd-$Eotl wlox.

^.-J.",,q,ldr r - .^,,

1 . * d9n.J oin{de oar {E*ilerl s!do,tr. B.} 4d{o1r) 2 eiodrl$d1 dooo6dd. (5x2=10)

a) ei{a{an&3oJ: oJ>{oaddn oae.::o aod, u9dordddtr dnoxr.

b) FDdDdddoR eoRedo:rd ejdFg dddd9 udrded: ?

c) zoari dJa('o[3rDd& ?Dari s00eo ddd{o! uEoJ:O_ dDor8a"d nddrzfgdl

ddd6:,dra9eod)de ? mRdd edd: uddl oinaarl ilDdDdJd ?

d) ?,Darl dracDunDdd oJ>{de add: ddroi1$d1 dd:JoO&.

e) sodod qerJaJo! nd&i19 dnDFddrDn dnear: roeDej (s3dFer) dilraddl DeA.

f) eBO dcj d)d? deod dndod ddo$ ddJ")d dd6rdBddl rb&g$.

g) id$rlsrdi d?*dO_20% cDeidO_.aoadoqdndsarbdd. d$etud nddril9 z3ej

t 1,60,000. eDqJ d)q iddJdr^3 deiobQ eiea;.:ad d)Da.

ddd erd I

DCBC - 101
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arFrl-a

dgnd ob{de &Jo& 4d4rl9ri sDdoA). dC d-d"ob 4 uodrlgdl dnood:dd. (3x4=l!)

2. dsa6-rArd ,iPtd erd: erodoioerlilg$4 peao.

3. p,e oodeef eddJ uJari sDoea ddd{oiJo_doeood fJddtr$oe6$ed. djaeood)

raod drldr ?,Jero$$4€3 ddAddrlgod eirJJDd dDa.

do'ded:ottr = { 2,00,000

1 de ddr dod: = T 2,80,000

2 de ddr dod; = t 3,60,000

3 de ddr dod: = t 3,30,000

uBodd @ lOo/oP.a.

4. 9e da $d)d erddJ 1-4-18 dod,r.aoaoin dDd$"ir-ad*oon" Oa)8660od uDali

$o e o dd d{ s a oS: O- o3: o$ dd},oo e ar,ddr. addrl$&4 ddll OedeDnd.

od:o$drJei-t4,00,000

dao'ded:otf-{1,00,000

10% p.a. d uqotnoad {,e ddrd dodo$O-den t 1 ,00,000 dod 3 dod:zl9o-uoE

dmdd:n aad.9na3ed;.

'aoaoJD dDddJsadd,roon" otut36'd €dddgo- da $dDd eDdo$db4 doiDoA,,

(d:rDdr ddrrlcj uodrdddrl {,e ddr dD?.fF 31dod> oddit$dtr d:re;4al.

I
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1-4-21 31-3-22

30,000 50,000

600 400

5,04,000

1,20,000

4,20,000

4,56,000

23,200

5. dgnd da!t9d.1eoajrl9ri nodand uQadd a3:eeJ ado:r :

m&eoa6 d{;19: - { 25,000, ?.Darl - < 1 2,000, ad:rd 6edd $erodst - { 7,000,

6Ed.9:rd iou9 - < 2,00,000, idd9 - T 9,000.

"aeDajilgd ioDoQtudod d3 ddnd dn&e o#rad.

addd$ €,eroej - a scDeJ - zl e,croaj -:,

draqrrr (<) 10,00,000 10,00,000 5,00,000

d.a:e.il9O_d:da ?rorl 600 400 200

d93d ooubdf noai, 10 15 10

erudrDdendqnoajd I 6 5

dQrl9 #e;rrl$: (<) 5,00,000 2,00,000 2,00,000

6. * d9Rd dn&9os:od, 31de dnztrr 2022l.Erodrtro$F ddrdo deoQ, Et"jeood:

d{dil9O_ dorldod: uoaJob andoS:d:n,$dodal.

addrlsl)

me& (d?.ldoJ

xaerrodd:

der_d drld:

Erajli d$irEoisDd nddJd$ (datdOJ

ddd: d>uou

rEerJdood $ edojsad drldJ

erudo dDoJBo

darjderDn Dajri d$&ierrd a3ddqc

Eaaioood &o8$Risad nddJrl$t) 4,000

60,000 96,000
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.^,rqJor l - ;l

ESnd d>Qde *JaO 6d4dqri wdoa. {9 {,dooJo 10 eoddsdl dnood:dd. (3x1 0=30)

7. doedor 6-o.,6Joii9 d&6Dt^Dr19di dgri Oedsand. ddoua{iateddead io-ooi;6od

{Q,tsb, dodroodd9c dtd: uodaagd d:ee3 ds d&dru!i19 dom-od:rldd1 doeo:,.

a) t 1,00,000 ddd: dcaOod drdoad srdo?.J;Jaobd.)

b) d,ldr sDoea < 50,000

c) t 60,000 drld) dD6J[i (dDoEt3d iddJrld zJd t 40,000)

d) { 5,000 dddJ Oea aedoedddearld s)oeo

e) o-od3ad d,ro$qd dqfd, t 4,000

D ddd6 sdood t 80,000d id&r'19 Ooea

g) t 60,000 d:Ee.rrd nd$dqdtr Addfri t 1,00,000 do xne.:aaA d.noot"r dDderroc)dJ.

h) t 4,000 ?.rrari aDdg.

8. riaeaod morioj.:dd: 1-4-2018 dod: e:aari $0€o d,,dioJ)o_{ 16,00,000 dddd

tuo ?Jr6 sDoeaPrddJ. $0e60$ d:eej aodgJzjeu-od dnd { 4,00,000 drd: ddrd

eodrdO_do < 5,00,000 dod 3 aD&rd dod)rl9o-cla8 a?dg. a)E6 10% p.a ;JO-

nddeolDnd. (wDV aQaddo_). 6s ddr d>asr 31 dod) mdt19d1tu{entbQd.

riae&od xaorlo$dd {)ndd$O-drnd: ddrdSddd tuO uF6 a>d d:eb do$o5 dodcf

aDdo$d1 doJDo,tr.
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9. r.od) rJodtS ie)oil6 3 O?+Drlrlgdl dooOd. 31 -03-21 dodl dndriood ddrd eddrle;t)

dr ddRdo9d :

roitjd e,eBxc ded dots6 de di. ,a

Elon' 61on'

nd$rl9 med) (1l4l2o) 40,000 30,000 60,000

$0eorl$b 2,20,000 60,000 3,00,000

nddrrl9 mqlt: (31lo3l21) 60,000 50,000 80,000

dncnt^l 3,60,000 1,80,000 5,40,000

dedd d:d; ioud 56,000 1,00,000 20 0001

*9nd dLrJ(dil4 ob{de ear{nenaJrl A{a{er 5addas-.

sraad ${ dd - t 70,000 sded dzlfdc - t 96,000

add d:Q dddr - { 40,000 mdnd, dqf*b - { 24,000

{,e.aoaajotD sr4tuA)draoBcbd de.:d i$ilqri erd)ibsoaiA eodd d:d: ?,3$3drooori

mad d)$ ddd9&4 dor^ld d>ds: &dFoierrRd. .ad) ,drdon 115,1/2,3110 d

erd>aaddO-d.

s ded dalI$t drd; md:ad, d{;1+d1 dD oa [J d e d)Ddd e_ 0 do da, zJ eEr.

31103121 dod: dndrtostd udQrl Oe{ aaraad eQ *nCi drQ d{ a;adobdl

,tlddBlDd uildrad.

1 0. ddN?? Otu[,3cr, r,Jorlgod: dondoer3oJ: O_ uaaio$d1 do oad. dr,fd dree3 20%

e>tfd dodri nddr,19$4 Dejri.ad?dodf dndsad.:dd. dqndddgod HO d)ddzfgO_

dondoet3 ma3 andoJ:d:o dolD0:l.

114/21 dodt 9o:o: oaxadt (lP dO_) - t 60,000, xaerrodd: - { 2,00,000,

de.r_dditd:-{ 1,000



lllilillllfll till fl fl ililIilt lilil ilil illl -'13- DCBC - 101

iddrrf$de yrsJri rd&duj (lp) derotO_ds;b&deroRd _ < 4,8O,OOO

aaJri dgc&ierad dca : aoari_ t g,ooo, .add daifgc _ { 12,OoO

ddrdo_dnoau: : drld: _ { 2,oo,ooo, erudo _ { 3,oo,ooo

rgddood dodeld dild - T 4,OO,OOO, ddrdo dr"l xaoii$tr t 2O,OOO

31103122 dod: Aq : 6'Dx.rd) (lp dO_) - { 9O,OOO, Tromddr _ t 8O,OOO,

a3o;Cdrld:- t500.

r-11. 2020do-agdoqlaad aJoddo& uaaJri iouoe:rd * dgnd eroE eodrlgod 2021

d:Q 2022d0 uoajo$ &Ddo$dtr dolDoA,.

2020-21 2021-22

t

uaajri d$:&iod nd&d$) 3,00,000 4,20,000

-)J-)- .J--t r
cJl I(JJ c^)Jdurg) 1,20,000 1,92,000

erod0 dDo)t3 2,16,000 3,00,000
O

monadood dddJ tsIedorsDnd 1,92,000 2,40,000

ea$d;3isod ioea 3,000 9,000

dt: xae;d$.: 3,000 6,000

del6"rn aajri d$:bie>d dddJ 42,000 60,000

48,000 84,000

t

dnz.trr 31 dod: z3e_d ddd) 1,000 1,200

dnztrr 31 dod> o-ox-oab
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AqDrl - B

dsnd sDd-4d4d$O-ob{rmddo t'od**wrJol' 4'g 4d4ob 8 uodrtdd:n dooadodd' (1x8=8)

12. A) {,ddeo: 
gdoo$ dtreutox6r drQ '-BoDqq' orautr d'Ds6?id aaddrld eddddJ

z3d*uvoodlddO-deJAl6'Eod' 9e dEoedtr ?^,u?..,d3dJ9, mrar;o d{ ddoJ; a;dddo

DdsaRdroi"orau3.Jqo[r9v-30"aardasrmddd&4sDoe6ier:dnednd'dq3et^3

oedred. &?5roAd d?ddE-adR erddc €r dghd eroeJ-esDddl ddoJ):qd :

so{ drred tjei: T 8,25,000

dail6 ded)otf : 20%

aO$oiJ z.loedx" = { 5,000

dSoJ: aadd d:d:dnooo dd = t 70,000

uaodd 7.5o/o p.a. (qttr detfdO-)

rDed cdQ = 18 .3orls;bdcb.

soeiddo@og:

a) d&edf 18 Sod9ri aodeiderod ?"t^UrJqqJJdb4$?3ddaA.

b) d>eOd dddlirqdl dorlrdxr EMI erdl eiapod ilaa.

erC;ro

B) e,*dsa : rod> drdd dDOdEoJD 3 aqrrilrl9 droed d{ drdas'oddQ ddfodd :

Adrr, EDddd dr4 e,ud)dt. 2O2O-21 d d9nd $aeeo$$4 Od:ri ozJrasarbdod

dDdcDRd. (rDoo:ol,tr - a d:d: - ?,) s6o$O_ddri &edsad ae4eoEuodri$:

t e.:drl9O_d)

od doe doo zJeJ : { 7,50,000

I
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a) iorJ$ T 180, aDBri, ddrl$ drdr doiirl$r t 60, e& t 25, aac ddJ.lst { 50.

b) 31103121 dod d9nd u:a8d$d: Oddda:,drasjeand.ct9

ad:r eddd sD&d

il9)doQE 6-re$ 15 I

$0eOds;b 108

d>oou 144 193

dr:uaoj.:d oomd: 13

22

30

145

90

937

00clddo6od:

a) dDuJBa"d rddJrlcj de9oS:d:n dod:&Bobo.

b) xad>d, duft9 dot3dri CGS t:d1 upadaan drid:dooad: "aeDaiob enqirlgl>

e$aa d{rl$d1$ddda$.


